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methods to- use and, whiy

» Solwe problems inwolving addibion, subtraction. mulbiplication and, dinvision

Py + Use estimation to- checks answenrs to- calculations and, determine, v the contend of o problem. an
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/Usebanmdﬁwng/ There are |7 daisy plants and, 32 tulip plants ins Nursery, \
X.
Nw\sery/yha&66(]:amdwﬁgand/mhpplwﬁ&ﬂim
Nursery, X.
Hour maruy daisy and tulip plants are there, iny Nursery, 7
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(" Mastery I
v additior - see
Calculate 36-2 + 198
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with a formal written column method
» with a mental method, explaining your reasoning.
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s Perform mental, calculations, including with misced; operations: and, large numbers
oUwﬂwwknmdsdg@odCﬂwmdmo}opﬂuhm&fowwwthhmsmdmng’ﬂww

o + Solve addition and, subtractions multi-step problems irv contents. deciding whichs operations and,
methods to- use and; why,
» Solwe problems inwolving addition, subtraction. mulbiplication and, dinvision
» Use estimation to check answers to- calculations and, determine. in the contendt; of a problem. arv
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Bor g Jacob cuts 4 metres of ribbon into three pieces.

The length of the first piece is 1.28 metres.

The length of the second piece is 1.65 metres.

/I\A Compare 31 +9x 7 and (31 +9) x 7 \
O.Si'ﬁf‘lé/ uv udchhom - See What's the same? What's different?
Choose operations te go in the empty boxes to make thase number

NCETM website for mone excamples sentences true.
s[ |3 J7=18
6 |3 J7=27
6[ |3 ]7=9
Put brackets in these number sentences so that they are true.

12-2x5=50
12-8-5=9

K 10x8-3x5=250 /
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Y ear 6

. Mulhplg/mulhrdigttnumber\slupfoh digits by a 2 digib whole number using the, formal, writtery
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‘ s Use their knowledge of the order of operations to cary out caleulations inmoluving the four
operations.
A8 )
° to- multiply decimals. with, up to- 2 decimal places. by a single digit. I q'
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eg. How many jugs with o capacity of 250ml could you fills with 10 litres of water?
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Mastery/ v multiplication, - see Fill in the missing numbers to make these number sentences true.
NCETM website for more eccamples y — 864

X X =864
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Pupils should, be taught to
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dinsision where remainders

opahﬁommmaltalzoalailahon& mdudn@unﬂwnum@opﬂﬂhmwmdlar\g@nwnbﬂ\& Identify,

operations:
» Solve multi-steps problems inv contendt: deciding which operations to use: and, why,
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A box of labels costs £63.
Moster\g/ irv disision - see

There are 140 sheets in the box.
NCETM ) l:op more There are 15 labels on each sheet.
Sara, Ramesh and Trevor want to calculate the cost of one label, in pence.
Ramesh uses the number sentence (6300 + 140) x 15.
Sara uses the number sentence 63 + 1-4 + 15.
Trevor uses the number sentence (15 = 140} + 6300.

Who is using the right number sentence? Explain your choice.
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